ohg B%e] £8 Fofolt

(1)
(2)
(3)

A aNE Aol 92 o
A o

2709t ALY 270 ©H S of
A 370t FA 170 aRE

N

>
[e)

==
[¢)

=
[¢)

cCth "
H =

[
[— )

o (116714

0x
I

D (2) 144714

vV VvV VvV v v Y
0
iy

Heh (3) 48714

(1) 2x2x2x2=16(7tA])
(2) 2% 2% 6 x 6 = 144( 7FA])
(3) 2x2x 2% 6 = 48( 7HA])




]3]y who) A WSy F U7zt A= whE7HA] ope] WAz}
53], 712z 338] &gk ok n|s|7p ey g Zith @
P2 w9 7pA 1A FHsteiEn

= 7HA]

>
> ®He 64714




@ 6714 @)10 7HA] ® 20 7HA]
@ 60 7HA ® 120 7HA]
= 5x4
578 SelA 2 718 AEohs Ap-o] ol B2 - =10 (7HA)

o|t.




4.

ily

()]
AR

39

rr

thew} ol 7 71E7} 5 4 Al 3 A4S Bop w5 4

uj5o] A4 Patolt.

g i

>
> HEb 2474

~&B

39| w27} 57] Qs = Zh #ba] ate] o] 39] v} =
ojof gt

wtebd] zh zpal o] Sexto] gho] 39] HjLrt Hl= ASS b A
Azl =t

i) 7t 2] 2ke] gol 60 H= A (1, 2, 3)

i) ZF 2] 2] ol 971 Hl= A (1, 3, 5), (2, 3, 4)

iii) 2t Zp2] £212] ol 127} = AL (3, 4, 5)

2SR TEOINE AR S 3x2x1 = 6(7H) L,
0] 71 47}A] o] B2 gEE0] A= 3 9 vj4=0] = 4x6 =

() oIt

w

—
=

X o 1N




4 9 844 A,B,C,D & 511 2159 71 22, a,b,¢,d
2k & o,

o] 7HA7t 7P (A,B,C,D) B2 e BH
(b,a,d,c), (b,c,d,a), (b,d,a,c), (c,a,d,b), (c,d,a,b),

(¢c,d,b,a), (d,a,b,c), (d,c,a,b), (d,c,b,a)
L9 7HA




o ol 7 719 Aol At o] A F 4 7l HE olofM &

6.
M the zrg el s patelat

= il

>
> HE 3570

€8
g o, oABCD,

o 99 ¥ 22+ A, B, C, D, E, F, G

ODABDC, oACBD, oACDB, cADBC, oADCB & 5 Z+&
Atztegoltt,

wabA] 7 7] 9] A FollA Ao BAGlo] 4 9] HE Hightt

TX6XHx4
S = 71) ©| 4.
4x3%x2x1 35( H) et




